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Since there are 139 cases in this study we have N-1=

139-1= 138 degree of freedom (df) in all. df for

between-groups is equal to the number of group (K)

minus one. Since there are two groups, hence df for

between groups is K-1= 2-1= 1. df for within-groups is

equal to the number of cases minus number of groups

(K). Hence, it is equal to N-K= 139-2= 137. After

putting the number of degree of freedom, the sum of

squares for each of three sources of variations, we

compute mean squares or variances, which are obtained

by dividing each of the sum of squares by its respective

number of degree of freedom. These two types of

variance are the estimate of the population variance.

F ratio is interpreted by theuse of the F Table (Guilford

& Fruchter, 1978). In the F table the number of degree

of freedom for greater mean square is written at the

top and the number of degree of freedom for smaller

mean square is written on the left hand side. For this

problem = 1 and =137. Locating at these dfs, we find

that the required F ratio at the 0.05 level is 3.84 and at

0.01 level is 6.64. Since the obtained value of F ratio is

35.03, which exceeds the table value.

Hence H01: Rejected

We reject the null hypothesis (H01) and conclude that

there is an overall association between Locus of Control

of a consumer and his/her brand loyalty towards a

particular brand.

Testing of Hypothesis H02: To test H02 (Consumers

having external locus of control are not brand

switchers.), we analyzed data using z-test taking the

scores of External Locus of Control of the consumers

and their Brand Loyalty at a given significance level of

0.05

Here

x = mean of Brand Loyalty

y = mean of External Locus of Control

n = Numbers of the pairs of observations
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= 4.54

73

)54.4(

73

)99.3(

)82.327.18(
22

z

z =
7074.0

45.14
= 20.992

Z = 21.34

Since there are 74 External Locus of Control

respondents in this present study, we have n -1 = 74-

1= 73 degree of freedom and at 5% significance level.

We find that the required z-test table value at the 0.05

level is 1.96 and at 0.01 level is 2.58. Since theobtained

value of Z-test is 20.992, which exceeds the table value.

Hence it is clear that the table value of the Z is less

than the calculated value so with accordance to this

the

Hence H02: Rejected

We reject the null hypothesis (H02) and conclude that

Consumers having external locus of control are brand

switchers.

Testing of Hypothesis H03: To test H03 (Consumers

having internal locus of control are not brand loyal) wenn
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analyzed data using z-test taking the scores of internal

locus of control the consumers and their Brand Loyalty

at a given significance level of 0.05.
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Here:

x = mean of Brand Loyalty

y = mean of External Locus of Control

n = Numbers of the pairs of observations

x
=

n

dx¦
=

64

37.894
=3.73

y =
n

dy¦
=

64

64.1379
= 4.64
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Z = 29.40

Since there are 65 Internal Locus of Control

respondents in this present study, we have n-1 = 65-1=

64 degree of freedom and at 5% significance level.

We find that the required z-teat table value at the 0.05

level is 1.96 and at the 0.01 level is 2.58. Since the

obtained value of Z-test is 29.40, which exceeds the

table value.

Hence it is clear that the table value of the Z is less

than the calculated value so with accordance to this

the

Hence H03 Rejected

We reject the null hypothesis (H03) and conclude

that Consumers having internal locus of control

are brand loyal.

To find the degree of correlation we use the Karl

Pearson's Coefficient of Correlation in next section.

Section II-Calculation of Karl Pearson's

Coefficient of Correlation

Karl Pearson's coefficient of correlation can be

ascertained as follows:
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Here

X = Brand loyalty score

Y = Locus of Control Score

r = Correlation coefficient

N = Numbers of the pairs of observations

x = Mean of x

y = Mean of y

x
= Standard deviation of series x

y = Standard deviation of series y

x
=

N

dx¦
2

=
139

621.6598
= 6.88

y =
N

dy¦
2

=
139

32.5412
= 6.23
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23.688.6139

27.4328

uu
r

r = 0.726

The value of r is 0.726 which shows that there is

moderate positive correlation between locus of control

and brand loyalty of the consumer.

Correlation Significance Testing:

To test the significance of correlation we use probable

error. (If coefficient of correlation (r) is more than 6

times of P.E. (r>6 P.E.), the correlation between the

data series exists definite and significance)

Probable Error (P.E.)
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Probable Error = 0.02674

6 P.E. = 0.02674x6 = 0.1604

Coefficient of correlation (r) is more than 6 times of

P.E. (r > P.E.) (0.726>0.1604) hence the moderate

positive correlation between the data (Locus of control

of the respondents and their brand loyalty) series exists

definite and significant.

This moderate positive correlation represent graphically

as below :
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External Locus of control consumers defined as those

with scores of approximately 5 or less. If consumer

having External Locus of Control, they are probably

adept reading market situations and adjusting their

buying behavior accordingly. The result of coefficient

of correlation reveals (r = 0.726) that as score of

respondents of External Locus of Control scale goes

lower as score of brand loyalty goes lower and vice

versa and this is also indicated in graph. Internal Locus

of Control (whose score is 6 or more), because they

tend to be ignore external cues (advertisement, sales

promotion, substitute's price and market situation) and








